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QUESTION 1

You have designed the firewall filter shown in the exhibit to limit SSH control traffic to yours SRX Series 

device without affecting other traffic. 

Which two statement are true in this scenario? (Choose two.) 

A. The filter should be applied as an output filter on the loopback interface. 

B. Applying the filter will achieve the desired result. 

C. Applying the filter will not achieve the desired result. 

D. The filter should be applied as an input filter on the loopback interface. 

Correct Answer: CD 

Reference: https://www.juniper.net/documentation//en_US/junos/topics/concept/firewall-filter-ex-series-
evaluationunderstanding.html 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which three topologies are supported by Policy Enforcer? (Choose three.) 

A. Topology 3 

B. Topology 5 
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C. Topology 2 

D. Topology 4 

E. Topology 1 

Correct Answer: ADE 

Reference: https://www.juniper.net/documentation/en_US/junos-space17.2/policy-enforcer/topics/concept/ policy-
enforcer-deployment-supported-topologies.html 

 

QUESTION 3

Exhibit. 

Referring to the exhibit, a spoke member of an ADVPN is not functioning correctly. Which two commands will solve this
problem? (Choose two.) 

A. [edit interfaces] user@srx# delete st0.0 multipoint 

B. [edit security ike gateway advpn-gateway] user@srx# delete advpn partner 

C. [edit security ike gateway advpn-gateway] user@srx# set version v1-only 

D. [edit security ike gateway advpn-gateway] user@srx# set advpn suggester disable 
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Correct Answer: BD 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-auto-discovery-vpns.html 

 

QUESTION 4

You are trying to get a SSH honeypot set up on a Juniper ATP Appliance collector. The collector is running on hardware
with two physical interfaces and two physical CPU cores. The honeypot feature is not working. 

Which statement is true in this scenario? 

A. The collector must have at least three physical interfaces 

B. The collector must have at least four physical cores 

C. The collector must have at least four physical interfaces 

D. The collector must have at least six physical cores 

Correct Answer: A 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, which two statements are true? (Choose two.) 

A. Events based on this third-party feed will not affect a host\\'s threat score 

B. SRX Series devices will block traffic based on this third-party feed 

C. SRX Series devices will not block traffic based on this third-party feed 

D. Events based on this third-party feed will affect a host\\'s threat score 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/en_US/release-independent/sky-atp/topics/concept/skyatp-integrated-
feeds.html 
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